DAY 4 = GRAPHING AND EVALUATING

2) y= —3sinx

sinx-2

Use your knowledge of basic transformations to graph the following (LABEL THE AXES appropriately):
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=4cosx

4) y

3) y=cosx+3
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=2sinx+1

6) y

5) y=—cosx
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Amplitude: ' EoSTVE  period:
Phaseshit:_ &) \n = LEFT | \ANTES S \m ERARCI=tn
Verticalshif: D & = Up < vt @k = dowin kK

Determine the amplitude and period of each function.

1 Y = sin 4x 2. y = cos 5x 3. Yy = sin X
Amplifude = ‘ Amp]itudg = \ Amp|itude= \

' 2T
Period=___ W |2 o Period= 275 Period=____Z\1
4, y=4cosx 5, y = -2 sin x 6. y = 2 sin (-4x)
Amplitude = Amplitude = 2 Amplitude:___z_ T
Period=__ 2 1T Period= 20 Period= T il
- et :

% y =3 sin §x 8. y = =4 cos 5x 9. y = 3 cos (-2x)
Amplitude = 3 2Tv Amplitude = S Amplitude= E :\:\
Period=__ 2 TT 213 Period=___* " |5 Period= AN 71

4—1“;\' * 11, Z—
5 4
AWA ¢ RN [
) Vi -t Tt \\/ V*
Amplitude = g Amplrrudc-
Period = N Period=__ Z- 1\
12, 13

N ! AT
VIR e \V \3

Amplitude = _?_‘______ Amplitude=__ —

Period = H'__Tr Pﬂ‘“’d"—ul——-
f\J 5 Key Points of Sine Curves: _MIAdW v+ QA/\ AT t= LC Lo Maddle

\/ 5 Key Points of Cosine Curves: H‘\@An !\N\do\\_o Lovv, l\J\\g\olL.? l’HD,A/'\
*Gf\\\/\im\’ﬁ Sv\/\’rdm DYoLe/v D{— \—\\Ga\f\ /L/DN l

Scanned by CamScanner



/ Give the amplitude and periqq o o, functi
~ ion,

Then sketch the graph of tp, i
e function over-2m<x<2n using the key points for each function.

14, y=3si
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Amplitude = ._.i___, Amplitude= Z
Peried=__ -1\ Period=___ 211

Determine the amplitude, period, phase shift, and vertical shift of each function.

@ . y=-00s§ 3. y=-;-sin(2x—1)+3
amp =\ P@r:%: YT omp=lle  pey= TN
i S S riq}\/\;‘r \ AP S
Z, y= sin(x - g) 6. y = 3cos(mx-2)

Orp=3 PW:,Z-

\ 7 no V.3,
ropr T no VLS A
3. y=-5cm[%(x—2)] : y=cosm—2

ovnp= 5 poy= U orp=\ P L
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8. Write the cosine function as a phase shift of the sine function. 4

coso=swm®+ T1 40\ 7N\
oY g\h(@_,_g_‘_r_r) '0'.515 \/
2

-21! 3n/2 - -wm/2 0 wn/2 wn 3n/2 2n

60 2707 180" 90 $0°  18C"  Zr0" 3607
9. Write the sine function as a phase shift of the cosine function.
S WO = RS (S - ‘\"\'12_\
oxv RS (B + STRY
10. Write the equation of the following cosine function:
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circle. Each coordinate on the Unit Circ|

Ex

_-—

sing (ﬁ/2}(

Ex 2: What is ——9" m
Ex 3: Find the exact va|ue of tan 60°.

SinlLo)
oos(lao")

i Find the exact value of (sin 45° )(cos 60°).

e represents

'hY

-@

~_

@

X Y

You try: (You will ultimately need to do this on the test WITHOUT bemg given the circle and WITHOUT a calculator,
50 you should figure out @ method for approaching the problems without any resources!)

1.  _sin ({f-) | I,l
3. sin("T‘) 6 ’/L
5. sin(l%)

G/,

..|h
9. smT" d(,ﬁ

7. cos (-‘-“34)

11.  sin(3&)
13.  tan(¥) l

15. tn(Z) 3
K

17. tan(%) _ ,(g—

2

10.

12.

14.

16.

18.

20.

cos (%)

'h
cos(%) 46‘}2

cos %)
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